
N = 291

291 circles in a 1x0.30000 rectangle

radius =   0.016817977394
ratio  =  17.838054658363

density  = 0.861924321643
contacts = 539

 E.SPECHT
05-AUG-2010

N = 292

292 circles in a 1x0.30000 rectangle

radius =   0.016784313654
ratio  =  17.873831851395

density  = 0.861427323358
contacts = 557

 E.SPECHT
05-AUG-2010

N = 293

293 circles in a 1x0.30000 rectangle

radius =   0.016736263660
ratio  =  17.925147816282

density  = 0.859435435964
contacts = 568

 E.SPECHT
05-AUG-2010

N = 294

294 circles in a 1x0.30000 rectangle

radius =   0.016713233395
ratio  =  17.949848058256

density  = 0.859996936894
contacts = 654

 E.SPECHT
06-AUG-2010

N = 295

295 circles in a 1x0.30000 rectangle

radius =   0.016701578334
ratio  =  17.962374213540

density  = 0.861718989742
contacts = 510

 E.SPECHT
06-AUG-2010

N = 296

296 circles in a 1x0.30000 rectangle

radius =   0.016670946905
ratio  =  17.995378529222

density  = 0.861471403631
contacts = 333

 E.SPECHT
06-AUG-2010

N = 297

297 circles in a 1x0.30000 rectangle

radius =   0.016548318307
ratio  =  18.128730329794

density  = 0.851712064786
contacts = 566

 E.SPECHT
06-AUG-2010

N = 298

298 circles in a 1x0.30000 rectangle

radius =   0.016524083017
ratio  =  18.155319099725

density  = 0.852078522181
contacts = 700

 E.SPECHT
06-AUG-2010

N = 299

299 circles in a 1x0.30000 rectangle

radius =   0.016498917570
ratio  =  18.183011020369

density  = 0.852335764053
contacts = 610

 E.SPECHT
06-AUG-2010

N = 300

300 circles in a 1x0.30000 rectangle

radius =   0.016458728976
ratio  =  18.227409931614

density  = 0.851025278401
contacts = 580

 E.SPECHT
07-AUG-2010


